https://lwww.leads4pass.com/nclex-rn.html

L Qads 4 PQSS 2024 Latest leads4pass NCLEX-RN PDF and VCE dumps Download

NCLEX-RNQ%AS

National Council Licensure Examination(NCLEX-RN)

Pass NCLEX NCLEX-RN Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/nclex-rn.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NCLEX
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest NCLEX-RN Dumps | NCLEX-RN VCE Dumps | NCLEX-RN Study Guide 1/4


https://www.leads4pass.com/nclex-rn.html
https://www.leads4pass.com/nclex-rn.html
https://www.leads4pass.com/nclex-rn.html

https://lwww.leads4pass.com/nclex-rn.html
2024 Latest leads4pass NCLEX-RN PDF and VCE dumps Download

QUESTION 1

After 7 hours in restraints and a total of 30-mg haloperidol in divided doses, a client complains of stiffness in his neck
and his tongue "pulling to one side." These extrapyramidal symptoms (EPS) will most likely be relieved by the
administration of:

A. Lorazepam (Ativan)

B. Benztropine (Cogentin)

C. Thiothixene (Navane)

D. Flurazepan (Dalmane)

Correct Answer: B

(A) Lorazepam is an antianxiety agent that produces muscle relaxation and inhibits cortical and limbic arousal. It has no
action in the basal ganglia of the brain. (B) Benztropine acts to reduce EPS by blocking excess CNS cholinergic activity
associated with dopamine deficiency in the basal ganglia by displacing acetylcholine at the receptor site. (C)
Thiothixene is an antipsychotic known to block dopamine in the limbic system, thereby causing EPS. (D) Flurazepan is a

hypnotic that acts in the limbic system, thalamus, and hypothalamus of the CNS to produce sleep. It has no known
action in the vasal ganglia.

QUESTION 2

The physician orders medication for a client\\'s unpleasant side effects from the haloperidol. The most appropriate drug
at this time is:

A. Lorazepam

B. Triazolam (Halcion)

C. Benztropine

D. Thiothixene

Correct Answer: C

(A) Lorazepam is a benzodiazepine, or antianxiety agent, that potentiates the effects of _- aminobutyric acid in the CNS,
which is not the CNS neurotransmitter EPS. (B) Triazolam is a benzodiazepine sedative-hypnotic whose action is
mediated in the limbic, thalamic, and hypothalamic levels of the CNS by - aminobutyric acid. (C) Benztropine is an
anticholinergic agent, and the drug of choice for blocking CNS synaptic response, which causes EPS. (D) Thiothixene is

an antipsychotic and neuroleptic drug that blocks dopamine neurotransmission at the CNS synapses, thereby causing
EPS.

QUESTION 3
A 16-year-old diabetic girl has been selected as a cheerleader at her school. She asks the nurse whether she should

increase her insulin when she is planning to attend cheerleading practice sessions lasting from 8 to 11 AM. The most
appropriate answer would be:
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A. "You should ask your doctor about this."
B. "Yes, increase your insulin by 1 U for each hour of practice because exercise causes the body to need more insulin."
C. "No, do not increase your insulin. Exercise will not affect your insulin needs."

D. "No, do not increase your insulin, but eating a snack prior to practice exercise will make insulin more effective and
move more glucose into the cells."

Correct Answer: D
(A) A nurse can give this information to a client. (B) Exercise makes insulin more efficient in moving more glucose into

the cells. No more insulin is needed. (C) Exercise makes insulin more efficient unless the diabetes is poorly controlled.
(D) Exercise makes insulin more efficient in moving more glucose into the cells.

QUESTION 4

A client returns for her 6-month prenatal checkup and has gained 10 Ib in 2 months. The results of her physical
examination are normal. How does the nurse interpret the effectiveness of the instruction about diet and weight control?

A. She is compliant with her diet as previously taught.

B. She needs further instruction and reinforcement.

C. She needs to increase her caloric intake.

D. She needs to be placed on a restrictive diet immediately.

Correct Answer: B

(A) She is probably not compliant with her diet and exercise program. Recommended weight gain during second and
third trimesters is approximately 12 Ib. (B) Because of her excessive weight gain of 10 Ib in 2 months, she needs
reevaluation of her eating habits and reinforcement of proper dietary habits for pregnancy. A 2200-calorie diet is
recommended for most pregnant women with a weight gain of 27?0 Ib over the 9-month period. With rapid and
excessive weightgain, PIH should also be suspected. (C) She does not need to increase her caloric intake, but she does

need to re-evaluate dietary habits. Ten pounds in 2 months is excessive weight gain during pregnancy, and health
teaching is warranted. (D) Restrictive dieting is not recommended during pregnancy.

QUESTION 5

A client is admitted to the hospital for an induction of labor owing to a gestation of 42 weeks confirmed by dates and
ultrasound. When she is dilated 3 cm, she has a contraction of 70 seconds. She is receiving oxytocin.

The nurse\\'s first intervention should be to:
A. Check FHT

B. Notify the attending physician

C. Turn off the IV oxytocin

D. Prepare for the delivery because the client is probably in transition
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Correct Answer: C

(A) FHT should be monitored continuously with an induction of labor; this is an accepted standard of care. (B) The
physician should be notified, but this is not the first intervention the nurse should do. (C) The standard of care for an
induction according to the Association of Women\\'s Health, Obstetric, and Neonatal Nurses and American College of
Obstetrics and Gynecology is that contractions should not exceed 60 seconds in an induction. Inductions should
simulate normal labor; 70-second contractions during the latent phase (3 cm) are not the norm. The next contractions
can be longer and increase risks to the mother and fetus. (D) Contractions lasting 60?0 seconds during transition are
typical; this provides a good distractor. The nurse needs to be knowledgeable of the phases and stages of labor.
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